
FORMATIVE ASSESSMENT - II - 2022 - 23
ENVIRONMENTAL STUDIES

(English Medium)

Class : IV ] (Max. Marks : 20) [ Time : 60 Mnts.

Name of the Student : ........................................................... Roll No. : .............

A) Categorize the animals according to their food habits 6 x 1 = 6M

[Rabbit,    tiger,   crow,    kangaroo,    dog,    lion]

 Herbivores Carnivores Omnivores

B) Choose the correct answer 4 x 1 = 4M

1. ________ build nests to lay eggs (Animals/Birds)

2. The thick fur of ________ is used to make sweaters and blankets.
(sheep / buffalo)

3. The animals whose ears cannot be seen and lay eggs are called
as ____________. (viviparous /oviparous)

4. Vulture is an example of ___________. ( herbivore /carnivore)

C) Answer the following questions 2 x 3 = 6M

1) What will happen if there are no crows?

A.

2) What activities would you like to do to protect birds?
A.

D) Draw the picture of the animal that you like very much and colour
 it. 4M
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A ))))) øÏ+~ Ç∫Ãq »+‘·Te⁄\qT yê{Ï ÄVü‰s¡|ü⁄ n\yê≥¢qT ã{ÏºøÏ+~ Ç∫Ãq »+‘·Te⁄\qT yê{Ï ÄVü‰s¡|ü⁄ n\yê≥¢qT ã{ÏºøÏ+~ Ç∫Ãq »+‘·Te⁄\qT yê{Ï ÄVü‰s¡|ü⁄ n\yê≥¢qT ã{ÏºøÏ+~ Ç∫Ãq »+‘·Te⁄\qT yê{Ï ÄVü‰s¡|ü⁄ n\yê≥¢qT ã{ÏºøÏ+~ Ç∫Ãq »+‘·Te⁄\qT yê{Ï ÄVü‰s¡|ü⁄ n\yê≥¢qT ã{Ïº
eØZø£]+#·+&ç.eØZø£]+#·+&ç.eØZø£]+#·+&ç.eØZø£]+#·+&ç.eØZø£]+#·+&ç. 6 x 1 = 6

 ( ≈£î+<̊\T,  |ü⁄*,  ø±øÏ,  ø£+>±s¡T,  ≈£îø£ÿ,  dæ+Vü≤+ )
 XÊø±Vü‰s¡T\T XÊø±Vü‰s¡T\T XÊø±Vü‰s¡T\T XÊø±Vü‰s¡T\T XÊø±Vü‰s¡T\T e÷+kÕVü‰s¡T\Te÷+kÕVü‰s¡T\Te÷+kÕVü‰s¡T\Te÷+kÕVü‰s¡T\Te÷+kÕVü‰s¡T\T ñuÛÑj·÷Vü‰s¡T\TñuÛÑj·÷Vü‰s¡T\TñuÛÑj·÷Vü‰s¡T\TñuÛÑj·÷Vü‰s¡T\TñuÛÑj·÷Vü‰s¡T\T

B ))))) dü¬s’q düe÷<ÛëHêìï mqTïø√+&ç.dü¬s’q düe÷<ÛëHêìï mqTïø√+&ç.dü¬s’q düe÷<ÛëHêìï mqTïø√+&ç.dü¬s’q düe÷<ÛëHêìï mqTïø√+&ç.dü¬s’q düe÷<ÛëHêìï mqTïø√+&ç. 4 x 1 = 4

1) ______ >∑T&ÉT¢ ô|≥º&ÜìøÏ >∑÷fīófl ì]à+#·T≈£î+{≤sTT. (»+‘·Te⁄\T/|ü≈£åî\T)
2) ______jÓTTø£ÿ <ä≥ºyÓTÆq yÓ+Á≥Tø£\qT ôd«≥ºs¡T¢ eT]j·TT <äT|üŒ≥¢ ‘·j·÷Ø˝À

ñ|üjÓ÷–kÕÔs¡T. (>=Á¬s/π><Ó)
3) #Óe⁄\T ãj·T≥≈£î ø£ì|æ+#·ì eT]j·TT >∑T&ÉT¢ ô|fÒº »+‘·Te⁄\qT

______n+{≤s¡T. (n+&√‘êŒ<äø±\T/•XÀ‘êŒ<äø±\T)
4) sêã+<äT ______øÏ ñ<ëVü≤s¡D. (XÊø±Vü‰]/e÷+kÕVü‰])

C ))))) øÏ+~ Á|üX¯ï\≈£î düe÷<ÛëHê\T sêj·T+&ç.øÏ+~ Á|üX¯ï\≈£î düe÷<ÛëHê\T sêj·T+&ç.øÏ+~ Á|üX¯ï\≈£î düe÷<ÛëHê\T sêj·T+&ç.øÏ+~ Á|üX¯ï\≈£î düe÷<ÛëHê\T sêj·T+&ç.øÏ+~ Á|üX¯ï\≈£î düe÷<ÛëHê\T sêj·T+&ç. 2 x 3 = 6

1) ø±≈£î\T Ò̋ø£b˛‘̊ @eTe⁄‘·T+~ ?

2) |ü≈£åî\qT s¡øÏå+#·&ÜìøÏ MTs¡T @j̊T #·s¡́ \T #̊|ü{≤º\qT≈£î+≥THêïs¡T ?

D ))))) MT≈£î u≤>± ÇwüºyÓTÆq »+‘·Te⁄ u§eTàqT ^dæ— s¡+>∑T\T ~<ä›+&ç. 1 x 4 = 4
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ìsêàD≤‘·àø£ eT÷˝≤´+ø£q+ ̀  2 ̀  2022 ̀  23
|ü]düsê\ $C≤„q+

(‘Ó\T>∑T MT&çj·T+)
‘·s¡>∑‹ : 4 ] (>∑]wü̃e÷s¡Tÿ\T : 20) [ düeTj·T+ : 60 ìˆˆ

$<ë´]ú ù|s¡T : ......................................................... Áø£eT dü+K´ : ............


